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Answer either in English or in Bengali.

1. i) ‘ nanu anumitihetuvyāptijňāne kā vyāptih


’ ?

ii) ‘ na tāvadavyabhicaritatvam , toddhi na ...
ādhyābhāvavad  avrttitvam ...’

a) What sort of inference is meant by the expression
‘anumitihetu’ in the statement  (i) mentioned above?
Explain with reference to the context.

b) Why is the expression ‘na’ used twice in statement
(ii)? Is there any difference in their connotations?
Discuss. 9+6=15

1Ð ò˜˜% x %̃!›!“þöì£“%þîÄy!®Kþyöì̃  „þy îÄy!®ƒÚó

ò˜ “þyî”îÄ!¦þ‰þ!îû“þc›ä– “þ!kþ ˜ ¢y•Äy¦þyîî”î,!_c›ä ...ó

„þV vþz!ÍÔ!…“þ ²Ìí› !îî,!“þöì“þ òx˜%!›!“þöì£“%þó î’Å̃ y!Ýþ ö„þy˜
x %̃!›!“þöì„þ öîyGþyöì“þ ‰þyëûÚ éôôôé ²Ì¢D vþzöìÍÔ… þ™)îÅ„þ îÄy…Äy ”yçÐ

…V þ™îûî“þ#Å îyöì„þÄ ò˜ó Ÿ·!Ýþ ”%£zîyîû îÄî£yîû „þîûyîû „þyîû’ „þ#Ú ~£z
”%£z Ÿöì·îû îÄî£yöìîûîû ›öì•Ä îy‰þÄyíÅ†“þ ö„þy˜ þ™yíÅ„þÄ xyöìŠé „þ#Ú
xyöìœy‰þ˜y „þîûÐ 9+6=15

Or / xíîy
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2. ‘


Sādhyābhāvavadavrttitvam ’ –

a) What sense does the expression ‘ Sādhyābhāva ’
carry in this definition of vyāpti ?

b) Bring out the significance of the following statement
of Mathurānātha :

‘ vrtiśca


 hetutāvacchedakasambandhena

 
vivaksanīyā ’ 10+5

2Ð ò¢y•Äy¦þyîî”î,!_c›äó éôôôé

„þV îÄy!®îû ~£z œÇþöì’ ò¢y•Äy¦þyîó þ™”!Ýþ „þ# xíÅ î£˜ „þöìîûÚ

…V ›í%îûy˜yí „,þ“þ î‰þ˜!Ýþîû “þyêþ™ëÅ !˜’Åëû „þîû éôôôé

òî,!_Øþ ö£“%þ“þyîöìFŠé”„þ¢Áºöìõþ˜ !îîÇþ’#ëûyóÐ 10+5=15

3. a) What does avyāpyatva  mean?

b) What difficulty would arise if the locus of
sādhyābhāva  is considered in the relation of
avyāpyatva  in the first definition of vyāpti ?
Discuss.

c) How can this difficulty be removed? — Answer after
Mathurānātha . 3+7+3=10

3Ð „þV òxîÄyþ™Äcó îœöì“þ „þ# öîyGþyëûÚ

…V îÄy!®îû ²Ìí› œÇþöì’ ¢y•Äy¦þyöìîîû x!•„þîû’!Ýþöì„þ ë!” xîÄyþ™Äc
¢Áºöìõþ !îöìî‰þ˜y „þîûy £ëû “þy£öìœ „þ# x¢%!î•y ö”…y ö”öìîÚ

xyöìœy‰þ˜y „þîûÐ

†V ~£z ¢›¢Äy „þ#¦þyöìî ”)îû „þîûy ¢½þîÚ éôôôé ›í%îûy˜yí x˜%¢îûöì’
vþz_îû ”yçÐ 3+7+5=15

Or / xíîy

4. a) How does the first definition of vyāpti  fail to cover
the following inferences –

i) ‘
 

ghatatvātyantābhāvavān patatvāt ’

ii) ‘
 

ghatānyonyābhāvavān patatvāt ’

b) What solution towards this problem of
undercoverage has been suggested by the new and
old schools of Naiyāyikas ? – explain critically..

4+4+7=15

4Ð „þV îÄy!®îû ²Ìí› œÇþ’!Ýþ „þ#¦þyöìî !˜Á¬!œ!…“þ x˜%!›!“þîû ßþiöìœ
²Ìë%_« £öì“þ îÄíÅ £ëûéôôôé

i) ‡Ýþcy“þÄhsþy¦þyîîy˜ä þ™Ýþcyê

ii) ‡Ýþyöì̃ Äy˜Äy¦þyîîy˜ä þ™Ýþcyê

…V xîÄy!® !î¡ìëû„þ ~£z ¢›¢Äyîû „þ#îû*þ™ ¢›y•y˜ ˜îÄ ç ²Ìy‰þ#˜
÷˜ëûy!ëû„þîûy !˜öì”ÅŸ „þöìîûöìŠé˜Ú éôôôé ¢!î‰þyîû îÄy…Äy „þîûÐ

4+4+7=15
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